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N = 0] &F AF S & AN A
20178 & 204 LB H WS,
2A: s,
Iy SDSSEN(+ELDS/HEDS - SRSIIE)
G - SISNSH2LAE X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[N ESmE==n3 54,759,949 53,863,035 896,914
= 400,000
= 1,435,869
Al 52,924,080
HEz=nEsdld(=sLDE/HzUE - 25SIIE 54,216,040 53,838,280 377,760
= 400,000
o= 1,435,869
Al 52,380,171
H2M - JENSIH2EASAS 53,206,316 52,829,440 376,876
= 400,000
o 1,135,869
Al 51,670,447
SIIEXZ2 X2 41,921,000 41,921,000 0
307 QI2t0| & 41,921,000 41,921,000 0
09 LHAHEXS 41,921,000 41,921,000 0
SENA(ZHH) Q4E W ANLBNST
2Xx 41,921,000, 000& 41,921,000
HAZBSIALS 605,679 512,310 93,369
201 2Et2Ay| 492,380 441,806 50,574
01 AP 22| d| 27,561 6,750 20,811
O1.28t=2H| 27,561
MDA =22 (2FR)
50,000 «2800H A~ /2 7,000
—BHAIS/W & 9,161
HE2AQ0HUW DI 21,600 *280CH 6,048
A H 389, 100 «80CH 3,113
-22t2E MS VDA S/W 2 ¢ 11,400
HFACHUW DI 120,000& x95CH 11,400
02 Z2=2=24%H| 464,819 435,056 29,763
O1.Z2Z2224HA 265,440
- HAREBAIAE 223 265,440
HRA D S4 AIEE
30,000& 2800 A~ x12& 100,800
dE 8248 L ARSSIE AtE2
400,000 ~12& 4,800
HZ2ACHD| EIR2
15,000 280 A« 12 50,400
T EYHFAXNSE SN SAe2
25,0002 4 A x12& 1,200
SAHEXNHL) SHRS
44 0002 =205 12 108,240
O3. A2 &#HI K X HI 199,379
-HAREBAIAE SN2
191,167,000 = 14! 191,167




AN HHEsnsSH
Y HEDSSSNV(+SLDS/HSDE - 22 SIIEH
S oA - SFSASUH2AE IR (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
"EEFIACE NAE SN2+
8,212,000 » 14! 8,212
401 Al HIZ 201 I 91,574 70,504 21,070
01 A& HI 91,000 70,000 21,000
OHAZREANAH 25 91,000
—“ZEACHHD WH & FHIAY
7,000,000% »7CH 49,000
-ZFACHHD = &EX 6,000,000 =7 CH 42,000
03 Al 2 THHI 574 504 70
OHAZEEANAY 2= AIZR0UHI
91,000,000& *0.90/100*70%<Z& 2> 574
405 XHoHF S HI 21,725 0 21,725
01 AR ESFH S 21,725 0 21,725
OHAEE MHUHEX (=MDl L S22 oHLD|
) 4,345,000& 5K E 21,725
=s=ns MEXR 6,487,900 6,503,680 A 15,780
203 YR =2t 24,300 27,000 A 2,700
03 Al =AY R =& 24,300 27,000 22,700
OuSHEM =AY 24,300,000 24,300
301 et d = 8,600 1,680 6,920
09 HAAHIEA S 1,400 1,680 A 280
Oz SATAL AIQIEH F2X AH 24
20,0003 x2H +x7 «53] 1,400
NJIEEd=s 7,200 0 7,200
OotEI| AU A 2SS o285 24
= 120,000& 60 7,200
307 glz2tol & 6,455,000 6,455,000 0
09 2HAHAEXS 6,455,000 6,455,000 0
OAlUH A &2 483 2,275,750,000& 14! 2,275,750
OunsittE fF2&8s =2
2,080,500, 000& 14! 2,080,500
OusatE oIk =0 24
2,098,750,000& 14! 2,098,750
NUHSHEHASS A X A< E> 1,645,738 1,670,452 A24,714
= 822,869
Al 822,869
307 glz2+ol & 1,645,738 1,670,452 N24,714
< 822,869
Al 822,869
09 2+HAHEEXS 1,645,738 1,670,452 A24,714
OANUW sHEHAAY X&  1,645,738,000& 1,645,738
< 822,869
Al 822,869




2N HSLUSL.
HH: Hzspnssdld(+=s2UE/HSLE - ERSIIH)
S oA - SFSASUH2AE IR (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
WSATNERE HaHA 2YRA<ER> 700,000 600,000 100,000
= 350,000
< 105,000
Al 245,000
402 2I2H X201 M 700,000 600,000 100,000
= 350,000
< 105,000
Al 245,000
02 QI EAISEZ (01X THS) 700,000 600,000 100,000
OnsAisE At daHA XA
100,000, 0003 *7CH 700,000
= 350,000
S 105,000
Al 245,000
EHAIE 23t ALY 637,524 426,342 211,182
301 gt 4= 637,524 426,342 211,182
1MIIEESS 637,524 426,342 211,182
OHAIZIE =& 12,0003 *2,846CH x12& 409,824
OHAl ZNMHIAXE SHE
11,000& *1,7250 x12& 227,700
NEAX0SHASE X A<E > 165,000 140,000 25,000
= 49,500
Al 115,500
307 glz2tol & 165,000 140,000 25,000
< 49,500
Al 115,500
09 2HAHAEXS 165,000 140,000 25,000
OM&AHA 2ZH XI& 5,000,000& «33CH 165,000
< 49,500
Al 115,500
T=REHEANSHAMGRA<EE> 170,000 90,000 80,000
< 50,000
Al 120,000
307 21201 A 140,000 60,000 80,000
< 41,000
Al 99,000
09 2+=HAHBXS 140,000 60,000 80,000
Ox=REEE Al=2HA AEXA
140,000, 000& 140,000
< 41,000
Al 99,000
402 RIZ2FXt20l 30,000 30,000 0
< 9,000
Al 21,000
02 RIZt 2 AL EZ (OIS ) 30,000 30,000 0




2N HSLUSL.
HH: Hzspnssdld(+=s2UE/HSLE - ERSIIH)
S oA - SFSASUH2AE IR (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=R2EEd llLa PLXA
30,000,000& =14l 30,000
= 9,000
Al 21,000
A2l S dE=2 322,475 221,419 101,056
309 ME=2 322,475 218,719 103,756
01 SAL- SHINTES 322,475 218,719 103,756
OAg2elsE nsSXJAE LA =Z 322,475
S¢S 322,475,000 322,475
SEENSIDE LS AS<E > 116,000 116,000 0
= 50,000
Al 66,000
307 21201 A 116,000 116,000 0
= 50,000
Al 66,000
09 2+=HAHEBEXS 116,000 116,000 0
O=&8 nszedegd=Ag 116,000, 000& 116,000
= 50,000
Al 66,000
MUSHEHAUHE XX J<E > 300,000 0 300,000
= 68,000
Al 232,000
307 glz2tol & 300,000 0 300,000
< 68,000
Al 232,000
09 2HAHEXS 300,000 0 300,000
OAMWHsHEBHA HEIX XA
15,000,000& »20CH 300,000
< 68,000
Al 232,000
WESUHHFHFAUHE > 135,000 0 135,000
< 40,500
Al 94,500
402 2I2H X201 M 135,000 0 135,000
< 40,500
Al 94,500
02 QIZE 2 A EZ (01X THS) 135,000 0 135,000
Ost2Xtsx LIttt 4X 135,000,000 135,000
< 40,500
Al 94,500
g2 NSAME 1,009,724 1,008,840 884
< 300,000
Al 709,724
=g 243 9,724 8,840 884
201 L4l 6,484 7,400 A916




s-2]8JI8H

MY . B (3H) - NEAY - BAS o AF o il 2
01 At 22l bl 6,484 7,400 AN916
O1.2Bt=2H| 3,964
-Zstss 2435 3,964
&40 70,000 *5H x5 Al 2 *13] 1,750
EY=E 1203 *3, 69000 *5H Al 2 *13] 2,214
O5.= &l 2,520
-SEE4ys @2F 2AAZ2 2R =4
Fx3Y 10«12 2,520
202 04d| 3,240 1,440 1,800
01 20l bl 3,240 1,440 1,800
Oxgzs g4 & [0: 1]
60,000& *3H 3L *63] 3,240
G DS E M RA<E > 1,000,000 1,000,000 0
= 300,000
Al 700,000
301 et A= 1,000,000 1,000,000 0]
= 300,000
Al 700,000
11 IIEtE &2 1,000,000 1,000,000 0
Oxstzs #4843 X 1,000,000, 000& 1,000,000
o= 300,000
Al 700,000
HESAAHI(HSWEW)(IIEH/DIE 143,909 24,755 119, 154
A2 AHI 84,309 24,755 59,554
ol A 57,766 0 57,766
101 2121 4| 57,766 0 57,766
02 JIEt& B % 57,766 0 57,766
ot (782 :=H) 57,766
-A= 44 433,000& *1H 44,433
-AZ2ER 22 9,376& 1 *x45A| 2t %128 5,064
s 960
ol < Xt 40,000 1~ 128 480
JIEFILS 20,000& x2H x12& 480
-AEHSH B XY 465,330 x1H 43| 1,862
=g | 155,000& x1H = 12& 1,860
-~ HZAH| 130,000& x 18 =12 1,560
-CH Ol g =S HI 50,000& x12& 600
-2 A Y|
44,433,000 *1H x84%*86%* 16/360 1,427
PRIEES-E] 26,543 24,755 1,788
101 @121l 26,543 24,755 1,788
03 I L2 NHE 26,543 24,755 1,788




SN HEDESD,
H: HHE2LAH (WS S)(IIEHIIE)
gel: o2yl eEH)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OstEektsx RIIMEEXS 2el 26,543
22 1,083,300 x1H +x12& 13,000
-4 03 1,083, 300& » 1 x400% 4,334
-E 2 F 0l 1,083,300& »1H x120% 1,300
—AX = 54,8003 »1H 192! 1,042
-Z A S A 130,000 1& =123 1,560
= A=) 40,0003 »1H « 128 480
-d32sd 1,083,300 *1H x35%*23| 759
AR 1,083,300 »1H +10%*12& 1,300
-wEE A 70,000 x1H » 128 840
s 40,0003 x1H =128 480
=0HZE+E 120,600 x1H x 123 1,448
JlEZ3l 59,600 59,600
SN2l 8,600 8,600
201 L4 8,600 8,600
01 At 22l 8,100 8,100
ORM2Y Let=EHl 3,780,000& 3,780
ORN2YE =&l 1,120,000& 1,120
OSADl Xt 150,000& 128 1,800
OZgERINES 1,400,000 1,400
02 =224l 500 500
ORNM2YE 323 500,000& 500
AR FE NI 46,800 46,800
202 04l 46,800 46,800
01 = LH o4 1l 46,800 46,800
OF=2ge F&HAWHl 20,0008 15F«13L 122 46,800
gexxyl 4,200 4,200
203 YR =&t 4,200 4,200
04 EA2IYRFLH 4,200 4,200
ORN2IILFAH(ZE:16Y)
350,000& »12& 4,200
NReas(Hszush) (3L UE/UHENE - EFSIIH) 400,000 400,000
TEDE P 400,000 400,000
JEteI A ES 400,000 400,000
701 JIEtEI HESEES 400,000 400,000
01 JIEteI HE == 400,000 400,000
OEMNDNSANEELESIAH 8==2 400,000,000 400,000




